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1 BREEXE 7E E3E4) 2 8 2 1 BERAEEXRE 2 fIER FEG) 2 0 5
2 BEREKBEX=E A #EQ 2 1 2 1 UbhIFBERAR—YKXE 3k HLVT) 3 0 5
2 REEXEKE 6 /INEH EREK@) 2 7 2 3 BAAKREKXR=E 0HE EFQ 2 0 4
2 UHIBRR—YKXE 2E8E B0 3 7 4 3 BEfAEXE 9EA BEZEN) 2 2 4
5 HEXZFARBKXFE 2 &2l #%a@ 3 6 1 3 EBEfmEXE 85 AF() 2 3 4
6 UbHIBERR—YKZE 8FAH F(1) 3 5 4 3 BRRLFAKRFKRE 1MEXR #H#DYQ) 3 2 4
7 BigAEXZE 8Tk AFO) 2 3 4 3 UbHIHBERAR—YKE 8FAH F#(1) 3 5 4
7 UbHIHBAR—YKE 6 TtH FEQ 3 3 2 3 UHIBERAR—YKE 2E8E &) 3 7 4
9 HAREKBEKXZE 6 K £F@) 2 2 1 9 HRLFARBFKRE 45% X&F®Q? 3 0 3
9 HAREKBEKXZE T BEQ 2 2 1 10 KprKz= 4RBE OHMYQ) 2 0 2
9 BRfAXZE 9ER BFEXN) 2 2 4 10 FBEEXEKXRE AR HEY®A) 2 0 2
9 BERLFHERBFKRE 12 BJIl ¥wmEE(1) 3 2 1 10 FBEXEKRE 5:E 1%F4) 2 0 2
9 UbHIBERR—YKZE A5 BEQ) 3 2 1 10 BfgAX= 3/hFE RHKQ) 2 0 2
9 BERLFARBKRE 1MEX A#DYQ) 3 2 4 10 BfgAX= 6 /N HAm(2) 2 0 2
10 BARKEKXRZE A4S #EQ 2 7 2
10 FREXKE 6 /M ERE@) 2 7 2
10 BfgAX= 7E E3=4) 2 8 2
10 REEFHREKRE 5 R F®@ 3 0 2
10 UHREBERAR—YKE 6 tH FEWQ 3 3 2
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